Notation Scientifique (B)

Ecrivez chaque nombre ci-dessous en notation scientifique.

150 000 = 82900 =
0,000018 = 8 860 000 =
0,0000099 = 545000000 =

0,00000045 = 0,00000471 =
0,00033 = 3200000 =
0,0000006517 = 0,0006717 =
35500000 = 0,000889 =
0,000000534 = 187 300 =
0,0000006246 = 0,00000292 =
155000000 = 739000000 =
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Notation Scientifique (B) Solutions

Ecrivez chaque nombre ci-dessous en notation scientifique.

150 000

0,000018

0,0000099

0,00000045

0,00033

0,0000006517

35500000

0,000000534

0,0000006246

155000 000

1,5 X 10° 82900

1,8 x107° 8 860 000

9,9 x 107°° 545000 000

4,5 x 1077 0,00000471

3,3x 107" 3200000

6,517 x 1077 0,0006717

3,55 x 107 0,000889

5,34 x 1077 187 300

6,246 x 1077 0,00000292

1,55 x 10° 739 000 000

8,29 x 10*

8,86 x 10°

5,45 x 10°

4,71 x 10°°

3,2 x 10°

6,717 x 10~*

8,89 x 10~*

1,873 x 10°

2,92 x 107°°

7,39 x 10°
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